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 AHE-01  

BACHELOR’S DEGREE PROGRAMME/CES  

Term-End Examination 

June, 2021 

 

(APPLICATION ORIENTED COURSE) 

AHE-01 : HUMAN ENVIRONMENT 

Time : 3 hours Maximum Marks : 100 

Note :  Question no. 1 is compulsory. Attempt any five 

questions from questions no. 2 to 8.   

1. (a) Define the following terms : 52=10 

(i) Crop rotation 

(ii) Savanna 

(iii) Gangrene 

(iv) Eutrophication 

(v) Over-exploitation 

(b) Indicate whether the following statements 

are True (T) or False (F) :  51=5 

(i) The word ‘ecosystem’ was coined by 

Tansley. 

(ii) The term ‘hazardous’ defines the 

capacity of a substance to produce 

injury after entering the metabolic 

process of the consumer. 
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(iii) The organism which a parasite 

enters is called a host. 

(iv) An area dedicated to conserve the 

environmental, natural and 

historical objects and to conserve 

wildlife therein is called wildlife 

sanctuary.  

(v) The plant is unable to complete its 

life-cycle when it is deprived of a 

macronutrient. 

(c) Give answers in only one or two words  

each :   52=10 

(i) The worldwide tendency of people to 

crowd together has resulted in 

higher population densities in many 

cities. 

(ii) The reason for which plant 

fragrance is preserved even though 

it offers no monetary value to us.  

(iii) A term to suggest the advanced 

state of cancer. 

(iv) The cyclic events involving 

circulation of elements through air, 

water, soil, plants and animals. 

(v) The large scale cultivation of a 

single high-yielding variety over a 

large stretch of land. 
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2. (a) Discuss the need for wildlife conservation. 10 

(b) ‘‘Developmental activities affect the 

employment patterns.’’ Justify the 

statement. 5 

3. Describe the treatment of hazardous wastes. 15 

4. (a) Write a note on ‘Monsoonic’ climate in 

India. 10 

(b) Discuss the effects of over-grazing. 5 

5. Provide a detailed account of aquatic ecosystems. 15 

6. ‘‘Human environment faces a threatened future.’’ 

Do you agree with the statement ? Justify your 

answer. 15 

7. Differentiate between the following pairs : 53=15 

(a) Tundra and Taiga 

(b) Climate and Weather 

(c) J-shaped and S-shaped population curve 

(d) Lymphoma and Sarcoma 

(e) Pyramids of biomass and Pyramids of 

numbers 
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8. Write short notes on any three of the  

following : 35=15 

(a) Fossil Fuel 

(b) Social Forestry 

(c) Food Web 

(d) Acid Rain 

(e) Biofertilizers 

(f) Non-living Components of Environment 
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 E.EM.B©.-01  

ñZmVH$ Cnm{Y H$m`©H«$_/gr.B©.Eg. 

gÌm§V narjm 

OyZ,  2021 

(ì`dhma_ybH$ nmR²>`H«$_) 

E.EM.B©.-01 : _mZd n`m©daU 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> : àíZ g§»`m 1 A{Zdm`© h¡ & àíZ g§»`m 2 go 8 _| go {H$Ýht 
nm±M àíZm| Ho$ CÎma Xr{OE & 

1. (H$) {ZåZ{b{IV eãXm| H$mo n[a^m{fV H$s{OE : 52=10  

(i) µ\$gb MH«$U 
(ii) gdmZm (Savanna) 

(iii) J¢J«rZ (Gangrene) 
(iv) gwnmofU 
(v) A{VemofU$ 

(I) {MpÝhV H$s{OE {H$ {ZåZ{b{IV H$WZ gË` (T) h¢ 
AWdm AgË` (F) :  51=5 

(i) eãX ‘BH$mo{gñQ>_’ H$mo Q>|gbo Zo J‹T>m (~Zm`m) Wm & 

(ii) ‘{dn{ÎmOZH$ (g§H$Q>nyU©) (h¡OmS>©g)’ eãX {H$gr 

nXmW© H$s Cn^moº$m H$s CnmnM`r à{H«$`m _| 

nhþ±MH$a j{V nhþ±MmZo H$s j_Vm H$mo n[a^m{fV 

H$aVm h¡ & 
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(iii) Ord {Og_| naOrdr Aml` boVm h¡ Cgo 

n[anmofH$ H$hm OmVm h¡ & 

(iv) EH$ Eogm joÌ Omo n`m©daUr`, àmH¥${VH$ Am¡a 

Eo{Vhm{gH$ dñVwAm| H$mo g§a{jV H$aZo VWm Cg 

n`m©daU _| ahZo dmbo dÝ` OrdZ H$mo g§a{jV 

H$aZo Ho$ {bE g_{n©V hmo dÝ` OrdZ Aä`maÊ` 

H$hbmVm h¡ & 

(v) nmXn AnZm OrdZ MH«$ nyam Zht H$a nmVo h¢ 

O~ CZH$mo ~¥hV² nmofH$ VÎd Zht {_b nmVm h¡ & 

(J) àË`oH$ H$m CÎma EH$  `m Xmo  eãXm| _| Xr{OE :  52=10 

(i) EH$ hr OJh ^r‹S> H$aZo H$s g§gma-ì`mnr àd¥{Îm 

go AZoH$ eham| _| OZg§»`m KZËd ~hþV A{YH$ 

hmo J`m h¡ & 

(ii) nmXn gwJÝY H$mo n[aa{jV H$aZo H$m H$maU, 

O~{H$ h_ bmoJ Ho$ {bE BgH$m H$moB© Am{W©H$ 

_yë` Zht hmoVm h¡ & 

(iii) H¢$ga H$s {dH${gV AdñWm H$mo ~VmZo Ho$ {bE 

Omo EH$ eãX H$m à`moJ {H$`m OmVm h¡ & 

(iv) MH«$s` KQ>ZmE± {OZHo$ A§VJ©V dm`w, Ob, _¥Xm, 

nmXn Am¡a Ordm| Ho$ µO[aE VÎdm| H$m n[ag§MaU 

hmoVm h¡ & 

(v) {dñV[aV ^y^mJ _| ~‹S>o n¡_mZo na EH$ hr A{YH$ 

CnO XoZo dmbr µ\$gb H$s IoVr & 
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2. (H$) dÝ` OrdZ g§ajU H$s Amdí`H$VmAm| H$s {ddoMZm 
H$s{OE & 10 

(I) ‘‘{dH$mgmË_H$ J{V{d{Y`m± amoµOJma Ho$ ñdê$nm| H$mo 

à^m{dV H$aVr h¢ &’’ Bg H$WZ H$s nw{ï> H$s{OE & 5 

3. {dn{ÎmOZH$ An{eï> H$mo {ZamnX ~ZmZo Ho$ CnMma H$m dU©Z 
H$s{OE & 15 

4. (H$) ^maV _| ‘_mZgyZr’ Obdm ẁ na EH$ {Q>ßnUr {b{IE & 10 

(I) AË`{YH$ MamB© Ho$ à^mdm| H$s {ddoMZm H$s{OE & 5 

5. Obr` nm[aV§Ìm| H$m {dñV¥V {ddaU Xr{OE &   15 

6. ‘‘_mZd n`m©daU Ho$ gå_wI EH$ MwZm¡Vr ^am ^{dî` h¡ &’’ 
Š`m Amn Bg H$WZ go gh_V h¢ ? AnZo CÎma H$s nw{ï> 
H$s{OE &  15 

7. {ZåZ{b{IV `w½_m| _| go {H$Ýht VrZ  _| {d^oX H$s{OE :  53=15 

(H$) Qw>ÝS´>m Am¡a Q>¡Jm 

(I) Obdm`w Am¡a _m¡g_ 

(J) J-AmH¥${V Am¡a S-AmH¥${V H$m OZg§»`m dH«$ 

(K) {båµ\$mo_m Am¡a gmH$m}_m 

(L>) O¡d^ma H$m {na¡{_S> Am¡a g§»`mAm| H$m {na¡{_S> 
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8. {ZåZ{b{IV _| go {H$Ýht VrZ  na g§{jßV {Q>ßn{U`m± 

{b{IE : 35=15 

(H$) Ordmí_ BªYZ 

(I) gm_m{OH$ dm{ZH$s 

(J) ImÚ Omb 

(K) Aåb dfm© 

(L>) O¡d Cd©aH$ 

(M) n`m©daU Ho$ AO¡d KQ>H$ 


